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= AERE RS EHER - CYEZEERFERRE
280, )

m =AR/AT

= R,-0)/(T,-T[Q/T] .|
e EARE oy, e
o =m/RI[(C)T] =l L |,
R, =R, +mAT L

R S

:Rl +m (T2 _ Tl) Figred6  Temperature effects on the resistance of a conductor

=R, [ 1+ (m/R))(T,-T))]
R, =R;[1+(a)(T,-T] "
ISEdiENRAl ===
1’535 H i 3%\%&

T(C) a(’C)-1at 20C a(C)-1at 0C

Silver -243 0.003 8 0.004 12
Copper -234.5 0.003 93 0.004 27
Aluminumgs -236 0.003 91 0.004 24
Tungsten -202 0.004 50 0.004 95
Iron -162 0.0055 0.006 18
Lead -224 0.004 26 0.004 66
Ni chrome -2270 0.000 44 0.000 44
Brass -480 0.002 00 0.002 08
Platinum -310 0.003 03 0.003 23
Carbon -0.000 5
Silicon -0.075
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SrarVEEHE20 CHr F520 B - 19 - 40 C, 100
C, 200 CHFVEH R T 2
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E

R, =R, [ 1+ (o )T, -T))]

R 40 ¢ = (20Q){1+[0.00391(°C-")] [(-40 °C) —20 °C]}
=15.3Q
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==’ A .
25 [H 218 (Colour Code of Resistor)
Example: 4.7Kor 4700 ochms {Carbon) Balndl:,2,3
Black = 0
Brown =1
ist 2nd 3rd 4th 5th Gth Red = 7
Orange = 3
Yellow = 4
Green = 5
Blue = 6
Yiolet=7
Gray = &
Yhite = 9
Gold = 0.1

L2 & Band 1: Yellow - 4 .......... 4
Band Z: Yiolet - 7 ............. 7
Band 3: Red - 2 ...coeenenenen 111}
Band 1, first # Band 4, Gold, 5% Tolerance 4700 Ohms

Band 2, secnd #
Tolerance: Brown = 1% Band 5 & 6 usually for 1%
Band 3, multiplier with '0's Red = 2% metal film types. Band 6

Gold = 5% for temp. coefficient.

Silver = 10%
Band 4, tol. in %—— Mone = 20%

\/|
%
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Q
=250
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R 10x(4+6)
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10 kQ T R
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1 Fl
— 700 Rer Rcr=Rep + Rpe
6V
=10+20
* * =300

(3OQ)j f}élg:_% » BG [ﬁ %}‘fﬂjﬂ ~J Fﬁ:ﬂ;

Rec R, - 70X Ry _ 70x30 _
70+ R, 70+30

. I
—'—: v § [ﬂ B BG M%}f tE £ 7OQEIJF{T{L 1 Rcr

A
J ) 39?:‘[1“?[! R (21 Q )PE “‘?[a 6V %’*p BEE R
Fﬁf*”ﬁ‘,ﬁﬁ? }Fyf?_ﬁs G k[s”

R= RAB+RBG_3+21=24Q
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pu c‘-‘[ﬁ%‘ﬂg #8(4 Band Code Resistor)
1 2 3 4

=10x10°

7 |
) —1kQ +5%
|

g | 5 @] s B e o
Colour Ist Band | 2nd Band Multiplier Tolerance
¥ | Brown 1 1 1 x 10'=x 10 +1%
7| Red 2 2 2 x 102=x 100 +2%
& | Orange 3 3 3 x 10%=x 1 000
;Fﬂ" Yellow 4 4 4 x 10*=x 10 000
| Green 5 5 5 x 10°=x 100 000 +0.5%
B7| Blue 6 6 6 x 10%=x 1 000 000 +0.25%
Z | Violet 7 7 7 x 107 = x 10 000 000 +0.1%
7| Grey 8 8 8 x 108 = x 100 000 000 +0.05%
FI'| White 9 9 9 x 10°=x 1 000 000 000
E1| Black 0 0 0 x10°=x1
£ | Gold x10=x0.1 +5%
#L| Silver x 102=x0.01 +10%
=1 | None +20%
B 51— RO 1 FE| 51 FEr e FEF
Colour Ist Band | 2nd Band | 3rd Band Multiplier Tolerance
— ] |
| b N
=475x107"
b2 s 43 =475Q+1%
T 5’!%’?51:’53 #5(5 Band Code Resistor) -
53— 7R CUSELIE 4 IS E ENIREIE =i
1] 8 A 2 B x10t | & 5% | 820k 245%
2 | A & 5] i
3| FE & & £
4| & ¥ i ~
5 Fi fi K &
Sy e | wvo e | avsecgt | aMest [ T e i
1 # |1 | F | 4 | B | 6 | AR | x10°| BF | 2% | 146M0241%
2 | = = = Py
3| ## i i W i
4 | = Fi I e z
5 | & El & 0

il “'1ffis#< (Resistor Colour Code)






